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@ sinx > cosx

@ cosx >tanx

® sinx o] FUAZHE 100t

@ tanx o] FAZZ 100t

® x9 gko] AAH cosx 2] Fe AXIT.



Zte sin cos tan
44 0.6947 0.7193 0.9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1,0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355
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6. & I™elA A& DC 9 Fol? (F, /B = 60°, /DAC =
45°, BC = 10cm )
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2 1894 AABC €} ADBC = 22t /BAC = /BCD = 90° ¢ &
PIZ+§olal, /DBC = 30°, /ZACB =45°, CD = 10 9 of, AC+BD
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@ 10V3+17 @ 10V3+20 ® 5v6+10
@ 56+ 20 ® 20-56
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A

® cosx = AD

@ cosy = BC

=ED

@ sinx

® tanx = DE

@ cosy=AB
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10. sin(2x + 30°) = cos(3y — 45°) & W, 4x —y 9] F& FoHH? (&,
0° < x<30° 15° <y <45°)

@® 0° @ 5" ® 18° @ 30° ® 45°



1 1
@ tanC = tanC ® tanC = tanA

@ COSA- — COSC
1
® cosC = cosA

@ sin A = cos A



12.

th& 133} 7ol AB & X202 3}
L9k O 919 A C oA AB of WdH
A9 & D 2t 6tal, /DCB =
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6, AD:;, BD =34 4, cos6 9
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13. 0°<A<90° ¢ o, ot
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O A2 gho] 5715 sin A 9] Zh2 ZrAgict
@ A< gho] ZASHA tan A 9] 32 S7RiCh
@ cos A 9] &g 0, HHAFL2 10]Tt.
@ tan A o] 2572 0, A 10]t}

® sin A O] 43 cos A 9] gho] Zotx|= A= ¢l



14. the I3 2o] W5 el

yll
7F1 o AFEYo A e B E
FLAIAZHANA 5 ES o] 0
85t OB 9] Zol& +otH? 1
A
x -
0 B z
a7 sinz CcoSsx tanz
43° 0.6820 | 0.7314 0.9325
44° 0.6947 | 0.,7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0,7193 0.6947 | 1.0355
47° 0.7314 0.6821 1.0724
@ 0.6821 @ 0.6947 @ 0.7193

@ 0.7314 ® 0.9325



15.

e 293 2ol LA 7 A2 AABC o] ZA A 14 ¥ BC o
el =49 S D g otal, D oA ¥ AC o] i A9 2 E
g} gttt AE = 4em, CE = 6cm ©]37, /BAD = x, /CAD =y & ],

sinx + cosy 9 #F2?




16.

th2 2 o] mAe] Zolrt 4 <l
ZBAMAA O] g Z2]3 O oA L] W
S0l ¥hE H 2h ot AB o] S M
o2} 5k2t. LOCH = x 2t & 9, tanx 9]

A2

@ V2 @2v2 @ 3V2
@ 3 ® 33




17. \/(COSA —sinA)? + \/(SinA +cosA)? = V2 & o, tanA & gr2?
(2, 0°<A<45°)

@2v2 @ V2 ® V3 @ 1 ® 0



